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70.70.70.70.70. The square root of the complex number 5 + 12i will be
(a) 3 + 2i, –3 – 2i (b) 2 – 3i, –2 – 3i

(c) 3 – 2i, 3 + 2i (d) 2 + 3i, 2 – 3i

Ans.Ans.Ans.Ans.Ans. (a)(a)(a)(a)(a)

+ i5 12 = z

+ i5 12 = (x + iy)

5 + 12i = x2 – y2 + 2ixy
x2 – y2 = 5

2xy = 12
xy = 6

(x2 + y2)2 = (x2 – y2)2 + 4(xy)2

(x2 + y2)2 = 25 + 4 × (6)2

= 25 + 144
(x2 + y2)2 = 169

x2 + y2 = 13
Now,

x2 – y 2 = 5 xy = 6
x2 + y 2 = 13 x = 3 ⇒ y = 2

2x2 = 18 x = –3 ⇒ y = –2
x2 = 9
x = ±3

So, z = 3 + 2i and z = –3 – 2i

AlterAlterAlterAlterAlternativelynativelynativelynativelynatively,,,,,
Varify with options

z = 3 + 2 i

z 2 = (3 + 2 i)2 = (9 – 4) + 12i = 5 + 12i

z = –3 – 2 i

z 2 = (–(3 + 2 i))2 = (3 – 2i)2 = 5 + 12i

End of Solution
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72.72.72.72.72. The given number of letters skipped increase in the order of 2, 4, 6, 8, .... . Which of
the following series observes the rule given?
(a) ADIOVF (b) BEJQZK
(c) DGKOTX (d) GIKMOQ

Ans.Ans.Ans.Ans.Ans. (b)(b)(b)(b)(b)

2 4 6 8 10

B E J Q Z K

MADE EASY Class Lecture

End of Solution

73.73.73.73.73. The weight of 3 mangoes and 2 apples is 255 grams. The weight of 2 mangoes and
3 apples is 285 grams. Each mango weighs the same and each apple weighs the same.
The combined weight of 1 mango and 1 apple will be
(a) 98 grams (b) 104 grams
(c) 108 grams (d) 114 grams

Ans.Ans.Ans.Ans.Ans. (c)(c)(c)(c)(c)
3 m + 2a = 255 ...(i)
2 m + 3a = 285 ...(ii)

Solving equation (i) and (ii), we get
a = 69, m = 39

a + b = 108

End of Solution
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